1.6 Integration Using Tables and Computer Algebra Systems

Keep in mind that there are several ways to approach man
of the answer.

y of these exercises, and different methods can lead to different u

1. We could make the substitution u = /2 z to obtain the radical /7 — w2 and then use Formula 33 with q

Alternatively, we will factor V2 out of the radical and use g = \/?
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3 Letu =7z = du = mdzx, so

[ sec®(wz) dax = L [sect udu 2 = (Lsecutanu + i secu + tanu|) + C

2= sec 7wz tan x 4 == In [sec Tz + tanmz| + C

)= 3z. Then du = 3 dz., so
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L 127 sin 3z — 3 (sin 3z — 3z cos 3z) + C

= 2—17[(9w2 —2) sin 3z + 6z Cosga_';] 4o

z° cos 3z dz = 27 [(92% — 2) sin 3z + 6z cos 3z]7 = L[(0+ 6m(-1)) — (0+0)] = &z 2

24, Let u = 2. Then du = 2dz, so
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